Trk2 7H5E

Al #A 5 RA &L BR B [ B R

7A31H £EH

E A5 47 - EMER v FHA D EMEH
= IE 1 2 AR 1 =2
BLH 4 - M - HE - FRiA BLH 4 - M - B - FRiA B H 4 - HM A - HEE - FRiA BLH 4 - M - HE - FRiA
9:50 A=Y AT 4 TH A=Y AT 4 TH 9:50 ABMIZ E ERX%E ABMIZ E®E ERX%&E
g MHEEHE g MHEEHE (£ 2R) (£ 2R)
1 (k2 &) (% 2 B) Ca01 BE/—F(IE—FM)| C401 HE/—F(IE—F)
C402 TIRILTINA RS C402 TIRILTINA RS
10:50 10:50
11:20 AT T7TENBRE BE BhHkE| AT+7=EMLHE HRE BEhiL 1120 HAEESOMRE WA BXE HEES ({5 U7D) O
(ASE - X3MR) (ASE - X3MR) (£ 2R) M REE 23 I LW E T
> C402 BETEBHLETIDH C402 BETEHLETIDH 2 C403 BETOFEALEIULE DT, EELTLES L,
/
L2 90 lo.900| BH#® 11:00~5:00R4ma| @# 11:00~5: 00 (BHES
&) )
EREE (+>7Y7D) D20| EREZ (f>FYF7D) D20
3 3
Lo | XEERI BH mmxs XERB] TH FBELE 1:10 | ® KX%% (£3~5) B RX%% (£3~5)
(K3 (RX3MR)
cC402 HE/—+DOH C402 HE/—LOH 3
3 fEs&| 1:10~6: 00 tkmar) | fEH& 1:10~6: 00 kEEL)
.10 | E®W=E (8E) D402 EWET (KE) D402
2:10 ' Fil EExE (£3~5) Fll EEXE (£3~5)
5. 40 . . S LE .5 . 43 —LE-59 | 2:40 | @& 1:10~6:00wmae) | [@# 1:10~6: 00 HEEL)
g;zgyﬁmﬁg 7 e g;zgyﬁmﬁg 7 fd EREE (74%27) T203| EREE (74%¥27) T2083
4 ElEE - HEE - SEEE ENRE - BEE - SBLLE 4 EmT FhkdE (£3~5) EAI BhkE (£3~5)
(£4 - 5R) (£4 - 5R)
3. 40 C401 HAHE/—F. BXAERMY| C401 BE/—F. BEAERSGY| ., ,,
4 :10 4 :10
5 5
5:10 5:10




Trk2 7H5E

Al 3 5E 3

AEBREMEIE

8 B

R X717 - EWER = A F5A R MER
= IE 1 2 AR 1 =2
BEA - 1294 - #EE - FRA BEA - 1294 - #E - FRA BLEA - 144 - #=E - FA BLEA - 144 - #=E - FA
9:50 9:50
1
10:50 10:50
11:20 11:20
2 2
12:20 12:20
1:10 1:10
2:10 5. 10
2:40 2:40

3:40 3:40
4 :10 4 :10
5:10 5:10

18 XHEH




k2 7HE

Al A 5 RA &L BR B [ B R

8A G383H AMEH

S AT T - =EHE 2 B THAL UEMER
= IE 1 2 AR 1 =2
BEH 4 - 0% - B - A BEH 4 - 0% - B - A FHH 4 - 04 - B - FRA FHE 4 - 44 - B - FRA
9:50 9:50 HHERER BE RO%XHE
(7k 1 BB)
1 1 C401 #HAHHL
10:50 10:50
L1.00 | BEE EE BExs BEY EE REEL 100 | BEE BB BEiE BEy EE REEL
(18R) (1) (£ 18R) (£ 18R)
) C404 BE/—b+-TFXEF C404 BE/—b+-TFXEF ) C404 BE/—b+-FTFXEF C404 BE/—b+-TFXEF
12:20 12:20
1o | BEE  BL mas g% Bl K Lo | BEE BW mxs EFYE Bl K
(X 4R) (7k 4 BR) (7k 4 BR) (7k 4 BR)
3 C402 #HAHHL C402 #HAHHL 3 C402 #HAHHL C402 #HFAHHL
2:10 2:10
5. 40 fE%| 2:50~4:20 fE%| 2:50~4:20 5. 40
BEMMSE BEMMSE
4 g EFEE (£1) g EFEE (£1) 4
P30 1 P30 1
3:40 3:40
fE%| 4:30~6:00 fE%| 4:30~6:00
4:10 XERHKI XERHKI 4:10
g EFEE (£2) g EFEE (£2)
5 P30 1 P30 1 5
XEBEEARHEESIEAIZOVWT, XEXHNREHBESHSICTOWNT.,
coo | 1ETLREH - RENOREN | 1ETLREH - RENOBES | ..,
HEIANIRLTHETDH L HEIANIRLTHETDH L




k2 7HE

Al 3 5€ 3

AEBREMEE

8 B

C AT4T7 - =WEH S THA VEMER
= IE 1 2 AR 1 =2
BLEA - YL - #H=E - FA BLEA - 144 - #=E - FA BLEA - YL - H=E - FA BLEA - 144 - #=E - FA

9:50 9:50

10:50 10:50

11:20 11:20

2 2

12:20 12:20

1:10 110

910 2:10

2:40 2:40

3:40 3:40

4 :10 4 :10

5:10 5:10

4 H NIEH




274 E pTEHABRBREIR 8H b5H JXIEH
=B AT 4T - =WEHE =R TS UEMEH
= IE 1 2 AR 1 =2
BLEHA - M4 - HE=E - FFA BLHA « HM% - HE=E - FFA BLHA - M4 - HE=E - FFA BEHA «- #HM% - FBE - FA
9:50 9:50
1 1
10:50 10:50
11:20 11:20 1040~1210 1040~121O
[RIEE R [RIEE R
2 2 BA E—%LE (K2) BA E—%£E (K2)
T202 T202
12:20 L2920
1:10 1510“'2140 1:10 1Z10~2:4O 1Z10~2:4O
RELS—FUREEI [R{EERE [RIEER
3 EH #HBFE£E (KS3) 3 BARA BE—%% (K2) BARA BE—%% (K2)
D104 T202 T202
2:10 2:10
2:40 2:40
4 4
3:40 3:40
4:10 4:10
5 5
5:10 5:10




Trk2 7H5E

Al # € 2R &L BR B 6 B R

8 B

w 1717 EWER W FFA  EWET
= IE 1 2 AR 1 =2

BEA - {294 - #E - A BEA - {294 - #E - A BEA - {294 - #E - A BEA - {24 - #E=E - A
9:50 (FBEEARNHBRDERAER) (FE) (FEEXENHABRDERER) (FF) 6. 50 (FTEEXNHABRDERER) (FF) (FEEXENHABRDERER) (FF)

7 45 ¥ 1 R E

7 45 ¥ 1 R E

7 45 ¥ il R €

7 45 Bl R E

10:50 10:50
11:20 EEE 10:40~12:-10 11:20
RELS—FRBEEI
2 Wi REEE (£3) 2
T101
12:20 12:20
1:10 EEE 1:10~2:40 1:10
RELS—FRBEEI
3 BH REE%E (£3) 3
T101
2:10 2:10
2:40 2:40
4 4
3:40 3:40
4:10 4:10
5 5
5:10 5:10

6 H XKEEH




EpE275E AT

HEBERBEIR RRYES 0-DRETEOL)

8 B

78 <€£EH

2R AT 4T - =TEH E S THAL UEMER
= IE 1 2 AR 1 =2
BLEA - #HM44 - HE=E - FFA BLEA - M4 - HE=E - FFA BLEA - M4 - #E=E - FFA BEA - 1Y% - HE - FHA
9:50
9:50
1
1
10:50 10:50
11:20 190
2 2
12:20 L2920
1:10 1Z10~2:4O 1:10
RELS—FRBEEI
3 BH RIKE (£3) 3
T101
2:10 2:10
2:40 540
4 4
3:40 340
4:10 4:10
5 5
5:10 5:10




